BERBERFRE=FIJTREEREFF16E) KR

(HSM45E8H48~9H158H®E)
RF A K ER X RKAED (REHRYL)
FEERKEXEAI (RFAHY)
BESS TRMREFAEE( 1 Sv/h)
wE EFS sBO PR Bz
No. | THETH X5 PRELT H" = 50cm (P -4FBDFH{E) e
10,; _&m F15@ | SMA F15@ | SMA 5150
REHRE | AERE | AR | PERE | AEHE | TR
50cm 0.08 0.06 0.08 0.07 0.07 0.06
901 | MeHT HREH UMY REE 8H26H
1m 0.08 0.06 0.07 0.07 0.07 0.06
50cm 0.07 0.09 0.07 0.07
002 |&WET  |REE BUYILHRE ) XMELSH | gm0 [#pE-ERES ] H\L
1m 0.08 0.08 0.08 0.06
) . 50cm 0.08 0.08 0.07 0.07 0.06 0.07
903 |&MRET REE AR LA UR— 8H26H
1m 0.09 0.07 0.08 0.07 0.06 0.06
) ) . 50cm 0.09 0.07 0.05 0.05 0.07 0.06
904 | MRHET ZELE RECELRFOILA 8H26H
1m 0.08 0.06 0.05 0.05 0.07 0.06
) ) . . 50cm 0.08 0.08 0.07 0.07 0.08 0.08
905 | &R MRHAT ZELE REZELERTSDOKR 8A25H
1m 0.08 0.08 0.07 0.08 0.07 0.07
) R R 50cm 0.09 0.08 0.07 0.07 0.09 0.09
906 |&MRHET CELE T4 XXV XRERKXWETE 8H26H
1m 0.09 0.08 0.08 0.07 0.09 0.09
50cm 0.09 0.09 0.07 0.07 0.08 0.09
907 |&WRET YIFEE KRBT I KRS FHEE 8H25H
1m 0.09 0.09 0.07 0.07 0.08 0.08
50cm 0.09 0.09 0.06 0.06 0.07 0.08
908 |&MRHET YFEE K WRHT 3L R4 FE 8H26H
1m 0.09 0.09 0.07 0.07 0.07 0.08
50cm 0.09 0.09 0.06 0.07 0.06 0.06
909 |&MRHET YIFEE R WRHT I = M5 HEE 8H25H
1m 0.09 0.08 0.06 0.07 0.06 0.06
50cm 0.09 0.09 0.06 0.06 0.08 0.07
910 |&MRHET YFEE KRBT 3 1 KA 4 FE B 8H25H
1m 0.09 0.09 0.06 0.05 0.07 0.07
50cm 0.08 0.09 0.07 0.08 0.07 0.07
911 |KWRHET INERR KRBT 3L R W/INERR 8H26H
1m 0.09 0.08 0.07 0.07 0.07 0.06
50cm 0.07 0.08 0.08 0.08 0.06 0.06
912 |&WRHET INERR K WRET 3L = $/N AR 8H25H
1m 0.08 0.08 0.07 0.08 0.06 0.06

1/2




EEEEREMEHRE=2) VR (EREE16E)ER

(HSM45E8H48~9H158H®E)
RF A K ER X RKAED (REHRYL)
FEERKEXEAI (RFAHY)
BESS RS ERFEE(U Sv/h)
. = WE-BHES
No. | rhETH R4 SRELT BE | 50om P Fn (k- 4RO T 918) e
10,; SE %£15H SE %£15H 4 %150
RERE | AEHE | AR | HERE | HERE | AERE
50cm 0.07 0.05 0.08 0.08 0.05 0.05
913 |&WRHET INERR KRBT 3L H /N EEAR 8H29H
1m 0.07 0.06 0.09 0.07 0.05 0.05
50cm 0.10 0.11 0.08 0.08 0.07 0.08
914 |&WRHET INERR K WRET SR/ NEAR 8A26H
1m 0.10 0.11 0.09 0.08 0.07 0.07
50cm 0.07 0.08 0.11 0.10 0.06 0.05
915 |&KMRET el a5 KRBT 3L R R A 8H25H
1m 0.08 0.06 0.11 0.10 0.06 0.06
N L 50cm 0.08 0.07 0.05 0.06 0.09 0.08
916 |&KMXET EEFR SEER 8H26H
1m 0.09 0.08 0.05 0.06 0.09 0.09
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